What is the respective ratio between the number of mobile phones sold of company B during July and

those sold during December of the same company ? \_3'|3?'|'|'$g o SR ShU-T B oh o©l 7T WIS Wid 3T

IHT SHUHT o TEHER o S S 7T WIET5e WIF chl HEAT o §19 ST AT fehaT 82
(a) 119:145 (b) 116:135 (¢) 119 :135 (d) 119:130 (e) None of these

PERCENTAGEWISE DISTRIBUTION OF THE NUMBER OF MOBILE
PHONES SOLD BY A SHOPKEEPER DURING SIX MONTHS

BE HIE o QIUH Toh GhMGR ST il 1T HISTSel BiT ohl GEAT <hT T feraor

Total number of mobile phones sold = 45,000

The respective ratio between the number of mobile phones

sold of company A and company B during six months December

16%

Month Ratio
July 8:7
August 4:5
September 32
October 7:5 September
November 7.8 25%
December 7.9




If 35% of the mobile phones sold by company A during November were sold at a discount, how many
mobile phones of company A during that month were sold without a discount? i Taa ok S huAT

A ST & T 35% A3l i B¢ T A T, aF 39 HEH o SR huT A o foha Wiatsel ®wiF fomr ge
oh Il T2 (a) 882 (b) 1635 (c) 1638 (d) 885 (¢) None of these

PERCENTAGEWISE DISTRIBUTION OF THE NUMBER OF MOBILE
PHONES SOLD BY A SHOPKEEPER DURING SIX MONTHS

@%’Hﬁ%ﬁtﬁ@gﬂﬂqﬂr{ TR &< U HISTSST i1 ohl €T ST Jiaerd foawor

Total number of mobile phones sold = 45,000

The respective ratio between the number of mobile phones

sold of company A and company B during six months December

Month Ratio
July 8.7
August 4:5
September 32
October 75 September
November 7.8 25%
December 7.9




If the shopkeeper earned a profit of "433/- on each mobile phone sold of company B during October,

what was his total profit earned on the mobile phones of that company during the same month ? Ife

FHTER ¥ HAFE o SR huAT B o < 7Y Tedeh HIATgel Wi W ¥433/- o1 e aAfeia femam, st

nﬁﬁ%ﬁmwm%mwmwwmﬁﬁmmv
(a) * 6,49,900/- (b)  6,45,900/- () * 6,49,400/- (d)  6,49,500/- (¢) None of these

PERCENTAGEWISE DISTRIBUTION OF THE NUMBER OF MOBILE
PHONES SOLD BY A SHOPKEEPER DURING SIX MONTHS
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Total number of mobile phones sold = 45,000

The respective ratio between the number of mobile phones

sold of company A and company B during six months December

- November
Month Ratio 12%
July 8:7 October

August 4:5 8%
September 32

October 75 September
November 7.8 25%
December 79
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The number of mobile phones sold of company A during July is approximately what percent of the
number of mobile phones sold of company A during December ? 3\'!3?41'5g & T HUAT A % Ol U
HIATS Wi chi TEAT T8 o SR huAT A TR A< T MIATST Wi hi AT ST T fhd=T Tfavta

22 (a) 110 (b) 140 (c) 150 (d) 105 (e) 130

PERCENTAGEWISE DISTRIBUTION OF THE NUMBER OF MOBILE
PHONES SOLD BY A SHOPKEEPER DURING SIX MONTHS

@%’Hﬁ%ﬁtﬁ@gﬂﬂqﬂr{ TR &< U HISTSST i1 ohl €T ST Jiaerd foawor

Total number of mobile phones sold = 45,000

The respective ratio between the number of mobile phones

sold of company A and company B during six months December

16%

Month Ratio
July 8.7
August 4:5
September 32
October 75 September
November 7.8 25%
December 7.9




What is the total number of mobile phones sold of company B during August and September together
? JTTET SR TR o SR Shut B ERT < T HIATsel Wi hi et S fora-t 82

(a) 10,000 (b) 15,000 (c) 10,500 (d) 9,500 (e) None of these

PERCENTAGEWISE DISTRIBUTION OF THE NUMBER OF MOBILE
PHONES SOLD BY A SHOPKEEPER DURING SIX MONTHS
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Total number of mobile phones sold = 45,000

The respective ratio between the number of mobile phones

sold of company A and company B during six months December

16%

Month Ratio
July 8.7
August 4:5
September 32
October 75 September
November 7.8 25%
December 7.9




What is the difference between the total number of employees in teaching and medical

profession together and the number of employees in management profession? fRreror 3K

Ferfehca UST H Ueh ©TY SHHATIAT ohl Shel ST ST SSE U H HHTNAT shl HEAT 6 sff=r ol JA
ﬁ')_('F'T%? (a) 6770 (b) 7700 (C) 6700 (d) 7770 (e) 7670 Percentagewise distribution of employees in

six different professions
Total number of employees = 26800

00:40

Management
17%

Teaching
15%

Film Production
19%

Medical
27%



In management profession three-fourth of the number of employees are female. What 1s the

number of male employees in management profession? JIe Ul H HHATNET ahl TEAT 1

-<TTE ATEATE 2| Teie URT H T SFHATIAT h ST a1 2?2
Percentagewise distribution of employees in

(a) 1239 (b) 1143 (C) 1156 (d) 1289 (e) 1139 six different professions

Total number of employees = 26800

QL:40

Management
17%

Teaching
15%

Industries
13%

Film Production
19%




25% of employees from film production profession went on a strike. What 1s the number of
employees from film production who have not participated in the strike? Thed fmtor Ut <
5% FHAR TedTd W I T4 foheq F|ior 9 39 swd=niEt sh 97T foradt @ e gedra °

AT T8 Tt 27
(a) 3271 (b) 3819 (c) 3948 (d) 1273 (e) 1246

0020

Percentagewise distribution of employees in
six different professions
Total number of employees = 26800

Management
17%

Teaching
15%

Film Production
19%

Medical
27%



What is the total number of employees in engineering profession and industries together?
SR URY ST TR & HHETET hl el ST fehat &2
(a) 5698 (b) 5884 (c) 5687 (d) 5896 (e) 5487

4 20 Percentagewise distribution of employees in
@@ g @@ six different professions
Total number of employees = 26800

Management
17%

Teaching
15%

Industries
13%

Film Production
19%

Medical
27%



In teaching profession if three-fifth of the teachers are not permanent, what 1s the number of
permanent teachers in the teaching profession? 3T€JMYI STIHTI T e dH-ai=e fIreres Tt
T 2, a1 T g™ § TRl fretent i gt fohdHT 82(a) 1608 (b) 1640 (¢) 1764 (d)

1704 (e) 1686 Percentagewise distribution of employees in

' 7~ six different professions
@@ g @ @ Total number of employees = 26800

Management
17%

Teaching
15%

Industries
13%

Film Production
19%

Medical
27%



Direction: Line chart given below shows number of labors (men and women) working in six
different years. Study the data carefully and answer the following questions.

fa=m: < fea g | -3ERT gl H HTH B dTd Holgl F 3R wifgamsih) ot
ﬁmaﬁmwﬂgla%%qmmmm@ﬁaﬁ?%uﬁﬁm | b
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Total number of Men working in 2012 and 2013 together is what percent of the
total number of labors (Men + Women) working in 2014?

2012 31X 2013 ® U TIY BTH HI1 a1 YSU] Bl o &I, 2014 H HTH H1 1@
HIgR] (T2Y + AR Bt Pl G BT febe=1 Ufrd 22

(a)60% (b) 70% (c) 80% (d) 90% (e) 40%
400
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Average number of Women working in 2014, 2015 and 2016 together is how
much more/less than average number of Men working in 2011, 2014 and 2016
together?

2014, 2015 3 2016 W TP HIY HTH B drcil AT D1 Td J=AT 2011, 2014
3T 2016 H TP ATY HTH B34 914 YoU] &1 3T = § feat it / 7 82
(2a)100 (b) 80 (c) 90 (d) 70 (e) None of the given options
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Number of Men working in 2017 is 15% more than that of 2015 while number of
Women working in 2017 is 40% less than that of 2014. Find total number of
labors (Men + Women) working in 2017?

2017 ¥ STH A 9T T31 B TSI 2015 B g1 H 15% 4P & Jaid 2017 &

HTH P aTell P HGAT 2014 FI g H 40% FH g1 2017 ¥ HTH H At
(a)561 (b) 456 (c) 489 (d) 594 (e) 630 @ﬂ[@@
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Find the ratio between total number of Labors working in 2012 and 2013
together to total number of labors working in 2015 and 2016 together?

2012 3T 2013 W TP Y HTH HI1 aTA H& HoIg DI TS BT 2015 3R
2016ﬁwmmmﬁaﬁwwﬁﬁamaﬁmm .

(a)2:1(b)1:2(c)35:66 (d) 11 : 10 (e) None of the given options
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Total number of Men working in all six years is how much more/less than total
number of Women working in all s_i:%ears together?

1l ©g 9l & o1 FH da T o TP B8 aul § $TH B
m?ﬁl?%maﬁﬁﬁmﬁ eﬁﬁﬁ/ﬂ:{ﬁ? ¥

(a)None of the given options (b) 140 (c) 160 (d) 180 (e) 200
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Directions: Read the following table and answer the following question.
Total number of voters in different districts and percentage of male out of these voters
are given.

fAd=r: Aafafaa aiferer o1 earryde sreaga Fifee ok A= faw u=A) & S«r difve)

fafi= e & wagrarsil &1 oo TSI 3R 54 JAderarsi § A q=ul &1 ufawra faar mar g1

Total voters Percentage of male out of total
(Male and female) voters

A 350 30%
B 400 54%
C 370 50%
D 250 46%
E 300 45%
F 625 32%



Total number of male voters from district A and B together are how much
more/less than total number of female voters from district E and D together ?

A 3R B forell @ Ty Aagarsi @1 frare: oo T, e 3k b foral F Afgen
Haerarsil @t frdre oo aen A fea-t qIPHT ?

(a)21 (b)32 (c)25 (d)31 (e)None of these -
Total voters Percentage of male out of
W EICELGRETLELE)] total voters

A 350 30%
B 400 54%
C 370 50%
D 250 46%
E 300 45%
F 625 32%



The average of total voters from District B, C and D together are approximately
what percent less/more than the no. of male of voters from districts D, E and F
together ?

B, C 3 D foral & Hagrarsil &1 @ &1 8i¥d, D, E 3R F ol ¥ frares: gy
HAGIdI3i] & $d J&IT A T fha ufaxd st ar a2 2

(2)33.33% (b)24.44% (c)66.66% (d)16.66% (e)None of these

Total voters Percentage of male out of
(Male and female) total voters

A 350 30%
B 400 54%
C 370 50%
D 250 46%
E 300 45%
F 625 32%



Find the ratio of the male voters from district D and E together to the female
vut rs frum dlstrlct C.EandF tugether ?

%'FEWIT'IT P LT B, C, E 3R F et I e
n%mmm&ﬁaﬁm G|

(2)10 : 31 (b)10: 41 (c)10 : 51 (d)10 : 61 (e)None of these

Total voters Percentage of male out of
WEICELGREGELE) total voters

A 350 30%
B 400 54%
C 370 50%
D 250 46%
E 300 45%
F 625 32%



The no. of female voters from district F is what percent more/less than the no. of
male voters from district A? (rounded off to nearest integer)

fSrem F & wiger gagmarst @t ¥en, foer A 9 Hacdrsil &1 O § feaa
yfaerd siftre a1 w4 82 (RPpean quife #) S

(2)290% (b)230% (c)300% (d)305% (e)None of these

Total voters Percentage of male out of
(Male and female) total voters

A 350 30%
B 400 54%
C 370 50%
D 250 46%
E 300 45%
F 625 32%



Find the ratio of no. of male voters from districts B and E together to the no. of
female voters from districts C and A together ?

B 3R E forell & frame: 4w 3ff B} T= @7, € 3R A foral | frares afgen
naamaﬁaﬁm@rwaﬁmg

(a)351 : 430 (b)341 : 230 (c)361 : 430 (d)231 : 410 (e)None of these

Total voters Percentage of male out of
(Male and female) total voters

A 350 30%
B 400 54%
C 370 50%
D 250 46%
E 300 45%
F 625 32%






PERCENTAGEWISE DISTRIBUTION OF THE NUMBER OF MOBILE
PHONES SOLD BY A SHOPKEEPER DURING SIX MONTHS

E HTE o SN Ueh ehMET G sl 71T HIsTSel BIFT shT ST i Sfaerd ferator
Total number of mobile phones sold = 45,000

The respective ratio between the number of mobile phones
sold of company A and company B during six months

Month Ratio
July 8:7
August 4:5
September 3:2 August
October 7.5 22%
November 78
December 79




